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lll Semester B.Com. Examination, April/May 2021
(F + R) (CBCS) (2015 — 16 and Onwards)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be wr/tten completely either in Kannada
orin English.

SECTION — A/ — &

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
CRRTOTIR 0T emw—wéﬁ@:)ﬁ MO T emw—wsfﬁ NTTD 90BN,

a) Give the meaning of Fmance.
TEIFORO BT eﬁcﬁrdﬁg{ Qe&0.

b) What is financial planning ?
TEDTOARD OSRCB OTITERD ?

c) What do you mean by investment decision ?
BRI &saroivaﬁsi et 953 FRODN0 2

d) What is time value of money ?
BEITI RSO0 30, 0T ?

e) What is combined leverage ?
%083 RS Do ?

f) Calculate the present value of ¥ 80,000 received after 6 years, if the dlscount
rate is 9%.
3e. 9 T OIS TITE ST BRFNY S0BT Trodh e 80,0008 BRI R,
(PV) BozZERCHD.

g) Initial investment ¥ 20,00,000, residual value ¥ 4,00,000, working life
10 years. Additional working capital ¥ 2,00,000. Calculate average investment.
T,00RE womeey T 20,00,000, enved w30, X 4,00,000, tHBOINT BRI
10 RETID, TS0 d)@ofmw o 2,00,000. om0 BRBFOLR) FOTEOW.

SECTION B/&wen -

Answer any three questions. Each question carries six marks. (3x6=18)
OIRFYTHTR TRTO IR YVZ0R. F3 TIT e wosnwd.

2. Explain the principles of financial planning.

TEDTOARD 03REBRTOL BN, O

3. Mention the functions of financial management.

TEITOAR AREBHOD anjarmﬁa’% RO . P.TO.
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4. A firm has sales of ¥ 20,00,000, variable cost of ¥ 14,00,000,
fixed cost ¥ 4,00,000, 10% debt capital of ¥ 10,00,000.
Calculate operating, financial and combined leverage.
WO 7 o:So:b emédmf =roet3 T 20,00,000, wBenmys ﬁz& % 14,00,000,
r\)d das R 4 00, OOO 3e.10 0 ‘D@wéﬁ%‘b % 10,00,000. @m 23083 B3, BeITORY 38
B 23083 7 ﬁoivab 592590 SR&.

5. Calculate the future value at the end of five years of the following series of
payments @ 10% rate of interest. f
X 4,000 at the end of 1 year
¥ 5,000 at the end of 2 years

1+X 6,000 at the end of 3 years

X 7,000 at the end of 4 years
X 8,000 at the end of 5 years.
33 PN TS TOVEOD) B DR @030 e 10 WB TOBEATS, VI SR
TOLIDHONE) 933 WA aﬁfa@ OS] éoce’o&o@owa
% 4,000 d@d@éojo DR eﬁoé d@
X 5,000 O0@ES0DH IR eﬂoé d@
X 6,000 S0oT3cd IR Q-BOB" d@
X 7,000 meéodo DR @oé cﬁ@
¥ 8,000 aocﬁcm BRFT @0, cﬁ@

6. Calculate the payback period of the following projects. Each requiring a cash
outlay of ¥ 1,00,000. Suggest which project is acceptable if the standard
payback period is 5 years.

Year 1 2 3 4 5
Cash inflows (%) A 30,000 30,000 30,000 30,000 30,000

B 30,000 40,000 20,000 10,000 5,000
TD00RT 200w T 1,00,000 93T 0B 030eEENY DTN OB
éoca’a&o@oibo ANOZ TTRRTE STOOID 2T IREND, B3 ST BreeS 03N
oSezSodRy 5033, BREVTIW 20L) RO JeR.
S 1 2 3 4 5
[N w¥zoF) () A 30,000 30,000 30,000 30,000 30,000

B 30,000 140,000 20,000 10,000 5,000

SECTION — C/ &eoni— &

Answer any three questions. Each question carries fourteen marks. (3x14=42)
CIRTYRTTR TR FIRer wugon. B3 I TI BOTIL), e0gish.,

7. Briefly explain the factors determmlng worklng cap|tal requirements.
TR0 wodm%fdm QP ORT LOBNER), FOFTN DTOR.

8. What is dividend pol|cy ? Discuss the various forms of dividend.
CYIOB 8 DOTTERD ? DT WO mmozﬁﬁeﬁﬁg{ WRSEFA.



possible financial plans.
i) Entirely through ordinary shares.
if) ¥ 10,00,000 through ordinary shares and ¥ 10,00,000 through long-term
borrowings at 8% interest.
iii) ¥ 5,00,000 through ordinary shares and 3 15,00,000 through long term
borrowings at 9% interest.
iv) ¥ 10,00,000 through ordinary shares and ¥ 10,00,000 through preference
shares with 5% dividend.
The company’s expected EBIT will be ¥ 8,00,000. Assuming a corporate
tax rate of 46%, determine the EPS in each alternative and suggest which
alternative is best and why ?
KPMG Ltd. ¥ 1003 sa0sde3elozy 25000 1@5 e?edomﬁzd) moam 1&95 e
Wowew% X 25,00,000 Chlescialie oﬁom 35 é)~d":> oiraez:ﬁmﬁ 3 20 00, OOO Cla
LIOTTOYS, ROT RO 4 Nowad Feomomd oimemﬁﬁ%#m TR,
i) o0wp wdms Bedonehd.

ii) X 10 00,000 = ‘Daima’gs Beaonsh &08) T 10,00,000 3e. 87 VB TOT DEFFR

OB drawdeb

iii) ¥5,00,000 wms Beaoned ey % 15,00,000 Se. 93 WE TOE DEFF SR LT
d@wd@

iv) ¥ 10,00,000 RTRT, Fedoned w23 ¥ 10,00,000 3e. 5 T eoePo3E 2 3, 3TN0,
BOTIOD WL EBITZ 8,00,000. saprSeta® 301 46%, Gt SpeERon T T3¢0
nes (EPS) oﬁoﬁo 0, BOTBROND. AT 030e2E CIRTTO B Fert omd BOT A6,

10. Afirm’s cost of capital is 10%. It is considering two mutually exclusive projects
J and K. The details are given below.

Project J Project K
Investments 2,80,000 2,80,000
Net cash flow(3)
Year J K
1 40,000 2,40,000
2 80,000/ 1,60,000
3 1,20,000 80,000
4 1,80,000 40,000
> 2,40,000 40,000
6,60,000 5,60,000
Compute :
a) Payback period b) Net present value c) Profitability index
P.V. factor @ 10% for 5 years.
Years 1 2 3 4 5
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9. KPMG Ltd. has currently an ordinary share capital of ¥ 25,00,000, consisting
of 25000 shares of ¥ 100 each. The management is planning to raise another
X 20 lakhs to finance a major programme of expansion through one of the four
P.V.factor @ 10% 0.909 0.826 0.751 0.683 0.621
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11,

3e. 10 T03 woBaey mwm TRODTIR WO 7 OF\")’OSJJ TS Be0BBRRITOTH
J 30385 K 02y 38> oS.rae%éﬂ’%fcﬂJ BRODT. @&5)7{@5 DRI B3 38008,

Snexs Jd odnews K
TRRT 2,80,000 2,80,000
[N wE8TOF) ()

SR J K
1 40,000 (  2,40,000
2 80,000 1,60,000
3 1,20,000 80,000
4 1,80,000 40,000
5 2,40,000 40,000
6,60,000 5,60,000

85 0> 03ResSNeR a) WoreY RTITRTS A (PBP) b) &3¢ I8 =3¢, (NPV)
RO €) P oTZ0 Bees (Profitability index) ) éocgaao@om@

3¢.10 008 TR RPYT 903 (5 SRENT)

SIRensd 1 2 3 4 b
3e. 10 33 g;ﬁf a‘b’aeﬁtﬁ 03 0.909 0.826 0.751 0.683 0.621

A company has EBIT of ¥ 4,80,000 and its capital structure consists of the
following securities.

¥
Equity share capital of ¥ 10 4,00,000
12% Preference shares 6,00,000
14.5% Debentures 10,00,000

The company is facing fluctuations in its sales. What would be percentage
change in EPS ?

a) If EBIT of the company increases by 25% ?
b) If EBIT of the company decreases by 25% ? The company tax rate is 35%.

20T FoTROD EBIT T 4,80,000 Tone 9958 20005509 32350323 oA,

¥
% 103 @320023e303 —ams Betd WomeY 4,00,000
12%0 & _0233@6 BeBoned ' 6,00,000
14.5%30 wc‘%cﬁdd ‘ae)a:’:g’ﬁ%’b 10,00,000

OB BRTHEITE). @@@37@3’;2{ RTOORIGT. FoTIOD :

a) EBIT 3e. 25 ©03 estont

b) EBIT 3e. 25 298 wmon =8 3eox NPT Jesmoamodd m@amwm
FoRBOBHROWD. 301 =T Se. 35




